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Chapter 1 39T TGBAT3 Dt AHBR]

TR D Uy

Uy 1.
45278 &1 UIIRd 7 forfau |

3T
45278 =4 x10000+5%x1000+2%x100+7x10+8

TUY 2.
7 3id! B! o BT T ferfau |
10,00,000

Ty 3.
fram fferaa @ T RIS IdT 82
3T

< faferaa 91

Uy 4.
382, 4972, 318, 4563 &I 3RIg! %H ¥ fafau]|
3T

3RIel hH-318, 382, 4563, 4972

UH 5.

1910 db JH TP H fofau|
3T

1, 11, 101, 1V, V, VI, VI, VI, X, X




CTYRIHD UHd

CERR
Iy 2011 T fohail RIER BT STRRSAT 3,08,429 At 2001 B ga1 H S9H 72,958 Fi 3fg g5 A1 av
2001 T R DI S5 F1 4
Bal
2001 H (G ! ST
= 2011 H SFE-AT - SGEAT H g
=3,08,429 - 72,958
3d,

308429

— 72958

235471

31d: 2001 H BT P SFRAT 2,35,471 A

Uy 2.
TP WX H AR U7 Ufdfes &9d1 g1 T Ufd # 16 8 Bid o | Ufafe 39 THER U3 &1 11,400
gl Sudh g | fafe it ufcat o forg fova g8 ®ud &2

Bal:
Td® Ufd o 16 S €1 3fck:, 11,400 Ui # 16 x 11,400 g8 il |
3id,
11400
x 16
68400
114000

182400
3fc: gfafe wt ufeat o forg 1,82,400 g8 &Ud B






